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IS CHESS OVER-ORGANISED IN NEW ZEALAND

Observers have remarked with wonderment
that, in addition to its Central Government
New Zealand has more than 900 Local Bodies
ofdifferent kinds to administer the public
affairs of a population of little more than
two and a quarter miilion.

Membership f£igwres published in the
last Association Bulletin remind us tihat
an even more remarkable state of affairs
seems Lo exist in the chess world. They
reveal that just ever 800 chessplayers are
organised into forty different clubs affi-
ijated to the Association.Iin anidle moment
we amvsed ourseives by exploring the stat-
istieal implications of this. We estimate
that, in order that those &0 players umay
enjoy chess on an organised basis at least
200,and possibly censiderably more of them
must attend an aggregate of something like
500 committee or League Council meetings
in the course of a year !

Perhaps most New Zealanders, long gé-
customed to a widely besed participation
in social affairs,will see nothing strange
in this.Some at least,btalancing efficiency
and convenience against the virtues of de-
moeracy.may wonder why the finterssts of 80
people cannot be gatered for with a less
wasteful expenditure of time and effort.

Yet what could we do about it; in any
case? The real trouble is not so mich that
there are tLo0o many committeemen and too
many meetings,but that there are still too
few chessplayers. Just as New Zealand's
early public works were far in excess of
existing requirements at the time,but were
designed to meet the needs of amuch great-
sr population,so our existing chess admin-
istration is capable,with 1ittle expansion
of administration to the needs of a much
greater ¢club membership.

We may derive some comfort from ihe
thought that membershipis growing steadily
and should eventually reachthe point where
a betler balance can be siruck between the
numbers ¢f those who only play and those
who have to work at organising their play.

The present ratio of the latter to the
former, which we have estimated as one to
three, is obviousiy much 0o high. But as
long as we insist, as in all ecenscience we
mist, on retaining demeratic forms of
organisation, whatever ¢the difficulties
under N.Z. conditions, and until growing.
nembership has reduged this heavy“cverhead"
of human effort, we have t0 accept the
position.

Meanwhile we can be thankful that New

(next page)
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EDITORIAL continued:

Zealanders have been so long conditioned
tothis sort of thing that one chess-player
in every four gcan be found who is willing
to accept his share on the organizational
donkey-work.

We'd feel happier, of course, if it
weren’t so often the same one in every
towr: (S.D.)

AROUND THE CLUBS

WELLINGTON WATERSIDERS CHESS CLUB

This club has been reorganised and
now boasts a membershil of about 65. At
their annual meeting held recently Mr.
Gorden Peach was elected President and Mr.
George Rooker was elected Hon Seeretary.
Mr W.Main one Of the earlier members still
gerves on a comittee of three.

K.Beyer ancther member who belonged to
the first formed elub plays top board but
agcording o him he finds it tough going
holding that position.

During November last year the club met
the Civic C.C. in 2 mateh and won 84 = 64,
In December they met Centics C.C. and won
that mateh 12 = 7.

Here 15 a game played at the Lop board
in their match with Centies. A.Feneridis
for Centics and K.Beysr for Watersiders.

FENERIDIS BEYER
1 P - K4 P = QBb
2 N - KB3 P - Q3
3 P - @4 P 2 P
L N x P KN - B3
SN = B3 N B3
6 B = B4 P - K3
7 0 = 0 B - K2
8 N z N P x N
9 Q - kK2 Q = B2
0 B ~- Bh P - ki
i1 B - N5 0 = 0
i2 P - KR3 B - N2
iI3R = Qi QR = Qi

FENERIDIS BEYER
Lxr - Ki P = KR3
i5 B - Rh R - @
i6 KB - N3 Q - RL
17 Q@ - Bk P - @b
8. F . P P x P
19 Q - : Q - B
20 B x N B x B
21 B x P B x E
22 N x B R x N
23 R x R R = Qi
2h R % Rech Q £ R
25 Q@ x RP Q - 7
26 Q - R8ch K = R2
27 Q@ - Kheh K - Ni
28 P - Q@b Resigns.

ROTORUA CLUB

Mr L.Kiley of the abeve club
informs us that it is hoped to form a Bay
of Pleniy League comprising the following
clubss~ Rotorua, Tauranga, Edgecumbe and
Opotiki.

if this idea is carried out it should
do much ¢ enhance chess in this pert of
the coumtry.

Rotoruva Club has & membership of about
14 and meets once a week.

rapar————

NEWS IN BRIEF:

Bobby Fischer retained his U.8.A. Litle in
the champlenship tournament held during
the Christmag holiday period in New York.

World Teams Championship was won bty the
U.S5.8.R. with a score of 344 - 9%

The World Individual Correspendence champ=
ionsnip has been won by V.Ragozin Russian
grandmaster. He was followed by L.Schmidt,
(Western Germany) and L.Endzelins (Austra-
1jia) who tied for second place.

"CHESS" reports that the B.B.C. has been
having a balf-howr of chess every Tuesday
evening.They carried out a survey %o seelf
it was beinglistenedf by club players and
found that% less than half had heard the
forst broadeast. They alse teok & portable
radio along to & club and tuned into the
broadeast. Of the 30 or LO people thers
only ONE took The least interest.

.
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FOULDS AND MENZIES TIE IN 1958-59 CHAMPIONSHIP
e S D D LR DG L L G RO DR O B R DR D R bt

Congress was held in the Hamilton Tech
High School and was opened by M- A.T.Scott
President of the Walkato Chess League.With
few exceptions all players were present at
the onaugural meeting and the schedulewith
minor alterations was approved.

Messrs T.Lepviikman, F.Foulds and D.I.
Lynch ex-champions were amongst the com-
petitors and with other well known players
the championship promised to be a hard won
battle. With Messrs Phillips and Sarapu
absent at the International Championship
in Australia this Congress could be won by
anyone of the entrants and much guessing
was done before the start as to the ulti-

PLAYER

mate winner by means of a pick the winners
chart run by one of the players at the
commencement of play. Strangely snough,not
©ne contsstant managed to pick the double?
in view of the ending i.e. & joint win by
Foulds and Mengzies it is just as well for
the person conducting this chart, that no
one picked either one of them with the
winner of the Championship Reserve. The
favourites were Eriksen and Court who fin=
ished equal 3rd,and in the Reserve section
Reindler and Douglas were favourites.

Mr N.A.Palmer Secretary of the Waikato
Chess League carried out the duties of
Director of Play ably and with little fuss.

-

10 12__Pts Place.

i F.A.Foulds

2 B.C.Menzies
3> J.E.Eriksen
4 R.A.Court

5 W.Bello

6 T.Van Dijk

7 F.P.Hutechings
& D.I.Lynch

9 Z.Frankel

10 C.P.Belten

i1 B.H.P.Marsick

12 T.Lepviikman
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NOTES FROM CONGRESS REPORT:

Prize money:£120
Swiss system operated smoothly until final
round. Appreciation: Co-operation of all
players. Mr A.T,8cott and members of the

Hamilton East club for thelr assistance.Mr
G.-Frish for his untiring efforts in provid-
ing refreshments and assistance iIn other
ways. )
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WELLINGTON CHESS CLUB

WELLINGTON TAXI BUILDINGS, VIVIAN STREET

SATURDAY 7.30 p.m.

Fresident : H. J. FULLER.
Hon. Secretary. R. A. GODTSCHALK, 62 Calabar Road, Wallington, E.4.
Telephone 16-552

CHAMPTIC
{All notes by J.D.Ste

UND 1

White
Eriksen
Lepvilkman
Van Dijk
Foulds
Marsick
Mengies

= oMt S Mo

Do OO0

—

Gape: 1 Van Dij

Van Dijk builds &
in the early stages.
ueenig side was over
open file therej. ¢
castling but was una:
through in the centre
game seemed L0 De U
sacrifice by Court su
King into a mating ne

Van Dijk
1 P~ Eh
2 N = K&’
3 B =~ NS
L B x K
S P - Q@
6 Q@ x P
7 N = B3
6 B = K3
9 0-0=C¢C
10 @ - &
11 N = &
2 P - &al
13 K - Ki
ih P -~ B3
i5 P - By
16 N &

This Knight is soon c
backward QP is surpri

exploit.
i6
17 N = KB
i8 N =~ B3
9 P = K5

A line=opening advan
that benefit also fr
are the black tishops
19
20 BP x P
2y N = R4



CHAMPIONSHIT? E O UNTD Bl RO UND

{All notes by J.D.Steele,Games Editor, unless otherwise stated) -
Van Dijk Court

BOUND 1 22 P = (N3 N x KP

White Blagk 23 Q@ x P G = R&
Eriksen o] Belton 3 2L N x N Q x N
Lepviikman [§] Bellic 1 25 B - Bi 7
Van Dijk 0 Court 1 Afzer 25 QuP(B5)with the threal ofZ Q-Bi
Foulgs 1 dutehings Q in the air White would have lept a satis-
Marsick Q Frankel 1 factory game with a pawn ahead, although
Menzies * Lyneh 3 Bilack can probably retainm equal chances.
Game: 1 van Dijk v Court

Van Dijk builds up a streng position
in the early stages, but castling on the
Gueenis side was over-bpld. (Black has an
open file therej.
castling but was unable to pravent a break-
through in the centre. Just when Black's
game seemed L0 be becoming difficult a
sacrifice by Court suddenly droveihe White
King into a mating net.

Van Dijk court

1 P - K4 P - Kb
2 N = KB3 N - QB3
3 B =~ K5 P = @R}
4L B x N NP x B
5 P - Q& P x P
6 Q@ x P P = Q3
7 N = B3 P - B3
8 B - K3 P = KN3
9 0-0-=-0 B - KN2
10 @ ~ @ Q - R
11 N = Q4 B = @
2 P ~ KR4 P = KRh
i3 K - Ni N = R3
ih P - B3 N - B2
i5 P =~ BL P - QB4
16 N - @B

This Knight is soon driven away and the
backward QP 1s surprisingly difficult to

exploit.
16 e - Q
17 N = KB3 P - B3
i8 N = B3 QR - N
19 P = K5

A line-opening advance = but the pieces
that benefit also from the line-opening
are the black bishops.

19 BP x P
20BP x P 0 - 0
21 N = R B - KBL

Court cleverly delsyed

Now comes the decisive blow.White must now
have regretted his ninth move.

Pch !
RPeh
Pch

K7ch

25
26 K % B
27 K =
28 K - Kb
29 Resigns.

o xow
o o=

ROUND 2
Eriksen
Bello
court
Hutehings
Frankel
Lynch

(2nd figure

Lepviikman O
Van Dijk i
Foulds 1
Marsick 1
Menzies §
Belton ]
total score.White on

)

eft)

noocCcoco--—
M= O =5 =t o

0
1
2
1
i
2
1

Foulds and Belton went into the lead with
2 points each from Menzies 13. Those with
Black were winning 94 to 2%.

Game: 2 Eriksen v Lepviikman

Lepviilman embarks on a promising pewn
sacrifice in the opening and interesting
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Eriksen v Lepvlikman continued:

complications ensue. Eriksen defends in-
geniously and retains his pawn through all
the parrying. Once the end-game is reached
Eriksen evaluates the extra pawn with me~
ticulous play. It does appear however that
Black missed & big chance on the i7th move
when 17...,N - Q2 (pointed out by Eriksen)
would have caused White plenty of trouble.
Lepviikman's enterprise deserved a better
fate. i

Eriksen Lepvi i kman
1 P - ki P - K4
2 N - KB} N - @B3
3B - N5 P - Qr3
4L B - R4 N - B3
5 Q - K2 P - @b
6 B - N3 B - K2°
7 P - Qr4 B - K
8 N - B3 0 -0

Sacrificing a pawn for wild complications.
8...,N - Q5 leads to quite a satisfactory
game for Black.

9 P x P P x P
i0 R x R Q X R
11 N x NP B - R3
12 B - B4 N~ QR4

13 B - Q3
Eriksen considered later that 13 P - QN3
might have been simpler.

13 P - a4tz
Bold and consistent. White mst now exer—
cise all his ingenuity.

ib N x KP
ik PXP would-have-opened up unfathomeble
continuations,but was no doubt rejected by
Erfksen in view of his uncastled King.

Eriksen Lepviikmen
4 i P x P
i5 B ~ Bj N2 B
i6 Q x N B = Q3
i7 N - BS6 Q - "7

Here Eriksen thinks 17...,N~Q2 was better.
After the move played, White is able to
simlify to Bhe end"m. On 170--9N r~ @;
White's wandering Knights are in danger;
e.g. 18 N(B6) - Qi, P - B3.

18 N x B! P x N
i9 N - K7ch K - Ri
20 Q - B6! P - Q4
21 Q x Q B x Q
22 N - BS . B - R3!
23 P - QN3 R - Bij
2 N - Qb N - @
25 P - KB3 N - ki
2 K - B2 P x P
27 P x P P ~ R3
28 B - N2 P - B3
23 R - EN1. K - R2
0 B - B3 N - B2
3 R - QRl R = QR
X2 P - N4 B - N2
3 R x R B x R
3% P - N5 N - Q3
3% B - N4 N - B
3% B - B5 K - M
37 N - N3 K - B
3 N - B5 E - Kt
» P - N6 K - Q@
o P - ot Resigns
RRGPRRBE SRR B R
ROUND 3
Van Dijk 0 1 Eriksen 1 2
Foulds 1 3  Bello 01
Marsick o 1 Court i 2
Menzies 4 2 Hutchings &
Lynch 31 Frankel ¥ 12
Belton 1 3 Lepviikmen 0 ©

Foulds and Belton still maintained their
lesd with 3 points from Menzies, Eriksen
and Court with 2 each. -

Game; 3 Van pijk v Eriksen

Eriksen catches Van Dijk on the wrong foot
with & bold counter gambit. With six moves
he bas the advantage in development and
his open lines for attack ars first rate.
(next page)

i P

2 P 3=
3 P x
L B -
An interesting doubl
of some pawns opens

5 P x P
6 Q@ - @
White might as well
6 PxP(threat Q=Q8)af
B=N5; 8 N=QB3, his g

6

7 P = K

8 P x B

9 N - K
9 P - KR3 to get rid
necessary.

9

10 Q = B

11 N - R

i2 @ - B3

13 N - B
The pressure soon be

il P - KR
Too late. ;

14

i5 N - K2

16 N =~ B3

17 P x R

i8 K = Qi

19 Resigns

BNBRORE

ROUND 4
Lepviikman O ©
Bello i 2
Court 0 2
Hutchings 1 1%
Belton c 3
Eriksen ¥ 24

As a result of Belto
drawing,Foulds now )
from Belton and Menz

Game: L Eriks

A crucial game in th
ing of Eriksen and F
little in it until ¢t
ways having held a &
from the diagram pos
made strenuousg effor



Van Dijk Eriksen
1 P - Qb N - KB3
2 P - QB4 N = B4
3 P x P N = N5
L B - B4 P - Q3

An intereSting double gambit. A% the cost
of some pawns opens lines for his pieces.
5 P X P Q -~ B3

6 Q - @
White might as well go on with it and play

6 PxP(threat Q=Q8)after 6...,N=Q2; 7 Q=Q2,
B=N5; 8 N-QB3, his game is satisfactory.

6 B x P
7 P = K3 B x B
6 P x B 0 - 0
9 N - K
9 P - KR3 to get rid of Black!s Knight was
necessary.
9 R - Q1
f0 Q = B3 QR - O
11 N - R3 Q - B4
12 Q - B3 N - QB3
i3 N - B2 B - B4
The pressure soon becomes unbearable
i P = K3
Too utveo =
14 R - @6
15 N - K3 Q = N5ch
16 N =~ B3 R x N(B3) !
17 P x R Q x Pch
i K - Qi Q x Reh
19 Resigns
ROUND 4
Lepviikman © O VYan Dijk 1 2
Bello i 2 Marsick 0 1
Court 0 2 Menzies i 3
Hutchings 1 1% Lynch 0o 1
Belton 0 3 Frankel 1 2%
Eriksen 4 2% Foulds 2 33

AS a result of Belton losing and Foulds
drawing,Foulds now had a lead of only # pt
from Belton and Menzies.

Eriksen v Foulds

A crucial game In this round was the meet-
ing of Eriksen and Foulds. There was very
little in it until the ending. Eriksen al-
ways having held & minimal advantage, btut
from the diagram position onwards Eriksen
made strenuous efforts to force a win.

Game ;

(Position after Black's 47th move)
White’s rook is well placed, and his extra
pawn,although valueless, may be useful for
tempo purposes.Eriksen first seeks a pass-
ed pawn on the King's side.

Eriksen Foulds
L R - N5 K - B3
L K - B K = K3
5 K - Q3 K - B3
51 K - K3 K - K3
2 K - B2 K - B3
55 P - N4 P x P
shy P x P K - K3
55 K = N3 R - KBi

Black'sS only chance of counterplay.Now {L
will be central versus outside pawns.

5 R x RP R - BS
57 R - R8 R x P
58 P - RS R x P
% P - R6 R - Béch
60 K - B2 R - QRé
61 P - R5 P x P
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Eriksen v Foulds continued:

Eriksen Foulds
62 P - R7
The logical 62 PxP would seem best. Now if
62...,P=B5; 63 P=R7,P=B6; 64 K=K1,Kk=Ql; 65
P-R6,K=K5; 66 P-R7 wins. Or 62...,R X Peh;
63 K = N3. Any readers comments? ) ]

62 R x Peh
63 K - N3 R - Réch
64 K - R4 P x P
65 R = K8ch K - By
66 R - BBech <
Driving the black king wherelit wants to go
66 K - K5
67 P =~ RB=Q R x Q
68 R x R P - BS
69 R - B§ K - @6
70 R - Q8B P - BS
71 R x Pch
DRAWN

ROUND 5

foulds maintained his 4 point lead but now
only from Menzies with L.Eriksen goes into
3rd place with 3% points.

Van Dijk 1 3 Belton Q 3
Menzies 1 4  Bello 0 2
Foulds i L Lepvilkmen 0 ©
Marsick 0 1 Eriksen 1 3
Frankel 0 24 Hutchings i 23
Lynch 01 Court 1 3
Game: Marsick v Eriksen

Marsick gets a rather uncomfortable game in
the opening, and his KB i{s buried on QR2.

Eriksen makes it awkard for White to get

his pieces into play,and opens the centre

before the King can escape. Impressively

economical play by Eriksen.

Marsick Eriksen
1 P - K4 P - K4
2 N = KB3 B - B4
3 B - B4 N = KB3
L Q - K2 P - Q3
5 P = Q3 N = B3
6 B = K3 N - @5
7 Q= @ B - @
& P - QR3 P - Q4!
9 P - Q4 B - N3
10 B - R2 P - 4

Marsick Eriksen
i1 N - Q5 N z N
i2 P x N P 'x P
i3 P x P Q = RS
i4 B x N Q x B
i5 P - QB3 Q - N5
16 P - B3 Q - N3
i7 R - Q 0 = 0
18 B - Nt P - KB4
199 N - R3 QR - Kt
2 Q - NS Q - B
21 Q - @ P - K5
2 QP x P P x P
23 P x P

It 23 BxP, BxN; 24 PxB,RxBeh! 25 PxR,B-B7+
26 K-B1, B-K6ch winning the Queen.

23 B x N

24 P x B B - Bjeh
25 K - K2 Q@ - Béech
26 K - B1 Q@ X Reh
27 K - K2 Q - B6ch
28 K - B1 B - Kéch
29 K - Ki Q - B mate.

ROUND 6

As a result of Menzies drawing his geme
Foulds goes into a one point lead.

Hutchings 1 3 Belton o 3
Lepviikman © © Marsick 1 2
Eriksen 4 4 Menzies 3 b
Van Dijk 0o 3 Foulds 1 5%
Court 1 4 Frankel 0 2%
Bello i 23 Lynch 3 14

Came: 6 Eriksen v Menzles

Menzies wins & pawn In the opening by the
threat of the Noah's Ark trap,but Eriksens
defence is equal to the occasion.

Eriksen Menzies
1 P - K4 P - Ky
2 N - KB3 N - QB3
3 B - N5 P = Q3
4 B - R4 N - B3
5 Q - K2 B - K2
6 P = Q4 N x QP
7 N x N P x N
8 P - K5 N - Ni
9 Q - N4 K - Bl
10 Q x P(QW) P - Q3

Ertksen v Menzies co

Eriksen
11 0 = ©
2 Q - &
13 Q@ x Qe
i, B ~ K3
45 B = N3
i6. N - B3
i7 B = Q&
18 QR = Q1
iI9 R - @
20 N - Kiu
21 KR - Qi
22 P x N
23 B = N7
24 R x R
25 R 2z R
26 N x P
27 P - Q¥
28 P - B3
29 P x P
0 P - QR
3 K = B2
2 P - KN
33 B - Bt
P - QR
» P x B
% B x P
37 B - Bb
Agreed Dn
L. LI L2 o
RCUND 7
Hutehings 1 4%
Lynch 2 2
Menzies 1 5%
Belton i 2%
Frankel i 34
tarsick Q 2

Belton who started of
losses heat Foulds wi
gharing the lead wit)

Games 7 Huicl

A gooud win by Hutchir
the opening by Court
in & grip that never
achieves any counter-
have played i0..:.P -

Hutghings



Eriksen v Menzies continued:

Eriksen Menzies

i1 ¢ = O P =

2 2 - @& P x P

13 Q@ X Qeh B x Q

ib B - K3 B - K2

i B - N3 N - B3

i€ N - B3 P - Qi

i7 B - Q5 R - Qi

iS QR - Q B - B

19 R - Q N - N5

20 N - K4 R - Qi

21 KR - Qi N x B

22 P x N P = N3

23 B = N7 K - N2

24 R x R R x R

25 R x R B x R

26 N x P B - N3

27 P - Qi P - Qb

28 P - B3 P x P

29 P x P B - N8

» P = QR3 B - R?

33 K = B2 P = KBY

2 P - KN3 K = B2

33 B - Bb6 B = BS

3B P - QR4 B x N

» P x B P x P

3% B x P K - K3

3% B - B B - Qb

Agreed Draw,

ROUND 7
Hutehings 1 43 Court 0 4
Lynch 2 2 Eriksen ¥ 44
Menzies 1 5% Lepviikman O O
Belton 1 24 Foulds 0 54
Franksl i 24 Bello 0
Marsick o2 Van Dijk i 4

Belton who started off with 3 wins and 3
iosses teat Foulds which resultedin Foulds
sharing the lead with Menzies.

game: 7 Hutchings v Court

A good win Dy Hutchings. A slight error in
the cpening by Court and Hutchings has him
in a grip that never ralaxes. Black never
achieves any counter=play ab all.He should
have played 10....P ~ Q3.

Hutehnings Court
i P = Kk P - QB4
2 N = KB3 P = K3
3 P = Qb P x P

Hutchings Court
L N x P P = @3
5 N = QB3 ¢ - B2
& P = QR3 N = KB3
7 B - K2 P = Qb
£ ¢ - 0 B - N2
9 B ~ B3 N = B3
10 R - Ki N = K4
11 B - B4 N x Beh
i2 Q N P - Kb
i3 B - N3 P - Q3
14 N = B5 P = N3
15 N =~ K3 B - N2
16 B = R4 N - Q
i7N(3) - Q5 Q - BLy
i8R = Qi P - B3
19 Q - KL 0=0-=¢C
20 P - Qi ¢ - R2
291 N x PBP B x N
2 B x B KR - Bi
23 R x P R - B2
24 KR - Qi P KNk
25 R{1)- Q@2 P - KRL
26 Q@ x NP R{1)- BI
27 Q - BS K ~ Ni
26 R x N R x B
29 R = Qfech K = B2
» Q x Pch K = B3
3 R{(2)- Q6eh K - B2
2 R(6)- Q7ch K - B3

33 Q - B7 mate.

ROUND &

Foulds again goes into a 1 point jead as &
result of a win and Menzies losing.However
with 3 rounds to go it is anybody?’s yet as
both tenzies and Eriksen are only 1 peint
behind him. Lepviikman still o Scoirg Was
playing good chess but seemed o biunder
cagch time af a critical peint, probably
lack of hard practice accounted for it.

Lepviikman 0 9 Lynch 13
Belle 3 34 Hutchings 0 L
Belton 0 4 Court i 5
Eriksen 1 5% Frankel Q0 5%
Foulds i 64 Marsick 0 2
yan Dijk i 5 Menzies 0 53
Games & Belton v Court

Bziton and Cowrt vie with each other o
meke The wost unorthedox movesin the opens
ing, tut Cowrt by paving more atiention To
the csntre gets much the betier game.
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Belton Court
1 P - KB4 P - KB4
2 P Q3 P Qi3
3 N - KB3 B - N2
L P - K3 N - KB3
5 B - N2 P - K3
6 B - K2 P - Q4
70 -0 N - R3
8 P - QB4 Q - k2
9 N - B3 R - KNi
10- N - K5 P - Q3
1 B ~ B3 N - K5
12 N - Q3 0=0-0
13 N -~ B2 P - Q4
ib P x P P x P
15 N - N5

15 P - KNb

16 N x N?
This gives Black the time and the means of
forcing open lines of attack against the
white King.

16 QP x N
i7 B - K2 P X P
i8 R £ P B = R3
19 N - Qb
It the rook moves 19...,BxPch wins at once
19 B x R
20 B x N B x Peh
21 K x B Q - R5ch
Winding up neatly.
2 K -~ N R x Pch
23 K x R R - Nieh
2Lk Resigns

came: 9 Foulds v Marsick

A very good "strangulaticn® game by Foulds
The pressure inecreases wuwntil Black gets
desperate in his attempt to obtain counter
play.

Foulds Marsiek
1P - P - Q4
2 P - QL P - K3
3 N - QB3 N = KB3
4L B ~ N5 B - k2
‘5 N = B3 0 =0
6 P - K3 P = KR}
7 B x N

Quite a uesful change from the routine.
7 B x B
8 Q@ - N3 P - B3
9 B - K2 N - Q
10 P x P BP X P
i1 0 - 0 N - N3
12 QR - Bi R - Ni
i3 P - QRL B - @
ihb, R - B2 N = Bj
i5 KR -~ Bi Q = N3

Not now so good
16 Q x Q N x Q
17 P - QRS

17...,N =
18 P - Qi3 Q@ - B
19 N = K5 B x N
20 P x B P -~ GQR3
21 B - Q3 R(1)- B3
2 P - KBy R(1)~ Bt

Foulds v Marsick coat

Foulds
23 P - K4
Opening up the game @
tageo

25

24 B x P
25 K - B2
26 K = K3
27 N - RL

Fatal impatience. AfY
was plenty of play.

28 R x R
29 R x R
3 K x B
3 N - BS
*» N x Pal
33 N = Kb
L N x P
3% P - BS
% K x P
35 K - N6
3B K x P
3» K - B6
w P - Q6
k4 N = Q8

ERRERR R

ROUND §

Menzies menagedio dra
was therefore a point
rounds to go. brikser
this placed him Thir
{f it was to be foug!
three.Court and Van I
behind Foulds could !
minor place, though |
them to draw with the

Hutshings Q A4
Court 0 5
Lyneh 1 4
Menziaes : &
Frankel 1 43
Marsick 3 24
Game: 10 Mengzie

The meeting of the U
peuvres well and obi:
ter of it. By allowir
nig advantage is dis
careful defence by IM
with a win.
Menzies
1 P = Kj



Foulds v Marsick continued:

Foulds Marsick
23 P - Ky!
Opening up the game much to White's advan-
tage.

23 P x P
24 B x P R - B2
25 K - B K = Bi
26 K - K3 B - B3
27 N - RL B x B

Fatal impatience. After 27...,K - K2 there
was plenty of play.

28 R x R R x R
2 R x R N x R
» K x B K - K2
2% N = BS K = Qi
2 N x PFch K - Q
3 N ~ Kb N = N4
% N X P K - B3
» P - BS P x Pch
% K x P N - Q5ch
3% K - N6 K = @&
3B K x P N x P
33 K - B6 N x P
o P - Qb N = B3
44 N = QB Resigns
ROUND 9

Menzies menagedio draw with Foulds and now
was therefore a point behind him with two
rounds to go. Eriksen managed a win and
this placed him third;and it now looked as
if it was to be fought out between these
three.Cowrt and Van Dijk a full two points
behind Foulds could now only hope for a
minor place, though it was possible for
them to draw with the leaders.

Hutehings 0 4 Eriksen 1 6%
Court. 05 Bello 1 L
Lyneh i kb Van Difk 0 5
Menzias 3 6 Foulds 4+ 7
Frankel 1 L3 Lepvifkman 0 0
Marsick 3 2% Belton 4 L
Game: 10 Menzies v Fouids

The mesting of the two leaders.Foulds man-
geuvres well and obtains slightly the bet-
ter of it. By allowing exchanges, mosi of
his advantage 1s dissipated,and in face of
careful defence by Menzies he s content
with a win.
Menzies Foulds
1 P - Ki P = Ki

1

2 N - KB3 N = QB3
3 B - N5 P - Q3
L B - RL P - Q3
5 B x Neh P x B

6 P = Qb P - B3
7 Q - Q3 P - N3
8 B - K3 B - KN2
IW - @ N = K2
9 P x P BP x P

11 N = N3 B - K3
i2 Q = B3 P = KR3
i3 N = &5 P - B4
ib 0o = 0 0 - 0

i5 @ - @ K = R2
16 N = N3 Q - Ni
i7 QR = Ni Q - N2

The white KP can only be defended by tac-
tical means.Black now gets the better of it.

18 KR - Ki Q x F

18...,B=N5 logke quite strong.White’s de=
ployment is & little uncomfortable,and ex-
changes rather improve matiers for him.

i9 B x RP Q = K5
20 N - NS5e¢h K - Ni
2f B x B K x B
22 N x Begh Q x N

Black still bas somewhat the better of it,
but the absence of gome of the mincrpisces
make the advantage harder o exploit.

23 QR - QU Q = B3
24 R -~ K3 N = Qb
25 R = KB3 N - BS
26 @ - K3 Q - B4
27 R - Q Q - R4
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lenzies v Foulds continued:

Menzies Foulds
28 R - N3 R - R1
29 P - KR} QR - KBl
% P - B4 Q - B4
3% K - R2 R - RS
2 N - Bl Q - K3
33 P - N3 R - R4

Agreed Draw

Black still has slightly the better of {t,
but, with time pressure probably looming
up, Foulds must have decided to play safe.

ROUND 10

An exciting round. Both Foulds and Eriksen
were beaten. Menzies won his game and now
was level with Foulds with { round to go.

Marsick 0 2% Menzies 1 7
Foulds 0 7 Lynch 1 5
Eriksen 0 6% Court 1 6
Bello 1 54 Belton 0 Ui
Van Dijk 3 53 Frankel 2 5
Lepvitkman 1 1 Hutchings 0 43

Game: 11 Lepvifkman v _Hutchings

Lepviikman's only win in the tournament.It
is sad to see a player who some years ago
ranked as the best in the country s¢ out
of form, but it does demonstrate that a
player must have plenty of top-class prac-
tice tp keep in form.

Hutchings lost a pawn in the opening,
but put up a strudy resistance. However
from the diagram position,Lepviikman,White
showed a glimpse of his old form with a
massive assault on the enemy King.

Diagram position shows after Black's 31st.
Lepvilkman Hatchings

2 N - N¥» P X P
33 N - RS B - K2
3 B -~ @ P - B6
3% B x P B - N4
% R - Ki P - BS
37 Q - K3 B - Q
3 B - N! B - N3
» Q - Ky R - R
4o R(B2)- B1 Q - B
Lt P - BY! NP x P
k2 R x P K - M
L3 N - Bsch !

Lovely play
L3 K - Rt

- L R(1)- Bl R(3)- R2
45 P - N5.

One hammer blow after another. Black can-
not cover up his weaknesses in time.

L5 Q - N2

& R x N Q x P

L7 R - N4 R x N

48 R x Q R x R

49 B x Peh Resigns
Powerful play by Lepviikman.
ROUND 11 FINAL
Frankel 0 5 Foulds 1 8
Belton 0 Li Menzies 1 8
Bello 3 6 Eriksen 3 7
Court 1 7 Lepvilkman 0 1
Hutehings 1 5% van Dijk 0 5%
Lynch 0 5 Marsick 1 5

As both Foulds and Menzies won thelir games
they now shared first place. Court won his
game and Eriksen only managed to draw, SO
that they both shared 2nd place a full pt
behind the leaders. Belton who started off
so well,with three wins only managed to
get another 1% pts out of eight rounds.
Lynch who took a long time to get started
managed to make a totsl of 5 pts and it 1s
possible that he needed the early games
to warm up.

Game:12 Lynch v MNMarsick

Irregular playin the opening finds Marsick
in trouble and a pawn must go. Marsick
then plays cleverly to make the most of
what chances he has, and Lynch allows him
(next page)

Lynch v _Marsick co

to force a passed pa?
looked at an earlier

Lynch
1 P - @
27 xap
3 N - Q3
Lp -
5 N - B3
6 B - @
7 N - @&
8§ P - K3
9 Q - N3
10 B - N5
11 B x Ncl
12 R - Q&
13 R x P
1 P x Q

With a sound centre |
would think White ha
Marsick, however,by !
esses is able to mak
demonstration on the

14

15 N - B5
6 0 - 0
17 R x B
18 KR - Bi

After 18 R-R1 White
win.

18

19 P - KR
20 B - Ki
21 P x P

This line-~opening fa
R - R1 is good enoug
21
22 P - KN
Fatal.Now Black is [
pawn.

22

23 N - K
24, R - B
25 P - B
26 R - R
27 R - B

DERRBVTY

Jame: 13 Hutehing
Another tragic might
enterprising pawn Sé
ders and his attemp!



Lynch v Marsick continued:

%o force a passed pawn and win a game that
looked at an earlier stage to be lost.

Lynch Marsick
1 P - QB4 P - Q&
2 P x P Q x P
3 N - QB3 Q - R4
L P - Q4 N - KB3
5 N - B3 B - B4
6 B - @ Q - N3
7 N - QR4 Q 5]
8 P - K3 N - QB3
9 Q - N3 P - K3
10 B - N5 P - @3
11 B x KNch Q x B
12 R = QB Q - N4y
13 R x P e X Q
th P x Q

With a sound centre pawn to the good, one
would think White has an easy task ahead.
Marsick, however,by means of tactical fin-
esses is able to make athreatening-looking
demenstration on the Queen side.

14 P - Qi
i5 N - B5S P - QRL
16 0 - 0 B x N
17 R x B 0 - 0

18 KR - B17?

After 18 R=-R1 White would bein for an easy
win.

18 KR - N1
19 P - KR3 P - EKR3
20 B -~ Ki P - RS
21 P x P

This line-opening favours Black. Simply 21
R - R1 1s good enough.

21 P x P

22 P - K47
Fatal.Now Black {s presented with a passed
pawn.

22 B - Kb

23 N - K5 R x P

24 R - BY P - R6

25 P - B3 P - R7

26 R - Rt R - NE&

27 R - Bi R x R(B1)
Game: 13 Hutehings v Van Dijk

Another tragic might-have-been. After an
enterprising pawn sacrifice,vVan Dijk blun-
ders and his attempt at a "swindle® Is

13
cleverly refuted by Hutchings. A different
20th move, however, might have led to a
position with possibilities of chances for
a brilliancy.

RUY LOPEZ
Hutchings Van Dijk
1 P - K4 P K
2 N =~ KB3 N - B3
3 B - N5 P - @R3
L B - RA N - B3
50 - 0 B - K2
6 Q@ - K P - Q4
7 B = K3 0 -0
8 P - QL4 R - Ni
9 P x P P x P
10 P - B3 P - Qb !?
M1 P x P N x P
12 N x P N - B5
13 Q - K4 N x N
4 P Ww! B - N2
15 Q x N(BY) N - N3
16 Q - Ni K - Rt
17 N - @ P - KB4
8 Q - QU N - R5 !
199 N - B3 N x Nech
20 P x N

20 R - B37?
20...,B=Q3 with the horrible threatof Q-R5
would win back the pawn at once,andBlack's
pieces would be well placed to attack the
weak defences of the white Kinge.

21 K - /! B - Q377

2 B = N5 B x RP

23 K x B R - R3ch
Desperate ingenuity, but not sufficient.

24b B x R Q - RSeh

(next page)
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HUTCHINGS v VAl DIJK continued:

Hutehings van Dijk
25 K =~ N2 Q =_N5ch
26 K = R2 Q = Rheh

26...,BxP |s answered by QxB,and White has
more than enough for his queen.

27 K ~ N3 Q = N3ch
28 K - B4 Q x Beh
29 K = N3 Q - Q3ch
0 P - B4 Q - H3eh
3 K R4 Q. = N7
2 R - R B - B6
33 Q - KNi R = N3
A Q x Q B.x Q
3B KR =~ Ki R - R3h
3% K - N3 R - N3h
3% K - R2 P - Rh
3 R - KSch K - R2
» B N8ch Resigns

4

Once again we have a tie in the New
Zealand championship. Once again the Assn;
proposes that those in the tie should hold
the title jointly, in spite of the rule
which clearly indieates that in the event
of a tie there must be g play-off.

True, of its own volition the Council
recently introduced a rule to give some
sort of constitutional sanction to Jjoint
tenure of the title. HNow we donft propose
to enter into constitutionalism oxr other-
wise of the Councilis own action in bring-
ing in such a rule without referance o
affiliates; though it seems quite ¢lear
t0 us that in doing 80 it was exceading
its powers. Those powers, and the gonverse
limivations, are defined fairly enough in
the constitution.

There may he grounds for arguing that
Council gught to havethe necesgssry author-
ity for running tournaments as it thinks
best. We confess to some doubts ouxselves
as to whether rules for running a tourna-
ment should be reaslly be an integrai part
of the constitution. Nevertheless, as we
have observed before, where rules exist,
they should be observed wuntil such tTime
and experience indicate that they should
bte changed. Then, when amendment proves

necessary, the proper procedure should be
followed and affiliates consulted.

But,even if we grant Council the right
to introduce the rule it did, we cannot
understand why 1t had to make such a rule
mandatory. A rule providing that Council,
in the event of a tie, may declare joint
tenure of the title, would certainly be
useful in dealing with a situation such as
occurred several years ago when Phillips
and Feneridis tied. In that instance time
and transport difficulties rendered a play
off{ impracticable.

But in this case the players concerned
belong to the same club. A play-off should
be quite easy Lo arrange.Surely both play-
ers would welcome this. Certainly players
and supporters of chess would like to know
who the 1958=53 champion is.

It i peculiarly exasperating that, if
they are to be disappointed in this, it is
because the Council, in introducing a rule
¢f dubious validity, has at the same time
framed it in such a way as to tie its own
bands compietely, and 1eave it no freedom
10 exercise commgn sense.

SUPPORT YOUR NATIONAL
CEES8E8 MAGAZINE

BY PAYING YOUR
SUBSCRIPTION PROMPTLY

North Shore Chess Club

Takapuna Croquet Club Rooms
8 Auburn St., Takapuna

MEETS EVERY MONDAY NIGHT
AT 7-30 p.m.

A varied programme is available for
all classes of members and any visitor
is welcome,

J. S. ALEXANDER, Hon Secretary,
P.O. Box 999, Auckland. Phone 42-963
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In this section
competitors and with
end B,.J,Halpin of Yar
national background,
very difficult for t:
the competitors into
it appeared frouw pass

Owing To the lack
were only five) no s
was held. However a s
aside for the winner
being won by B.J.Halp

Roun:
1 _B.Douglas Ak

_2 G.C.Haase "rTE‘f
2 R.J.Sutton (Ak)
i Lo.E.Whitehouse (&En
.E.Baeyeriz Ak

6 K.M.Oke Nu

_%_&Pmimi Wn
W.Reindler T/A
_9_N.B.Cruden Ak
10 _B.J.Halpin MGK
J lGlAQ&ost m
2 RoKyle (cr)
3 Miss M.McGrath (Wn
b 1,D.Hayes D
15 JoBoKay (AK)

16 _RoLsMills T
i7 lrs E.S (Ak)
18 WoL.Melver (En]
19 R.L.Roundhill (Dm
20 _H.F.Pobar W
2i H.E.Halpin KGE
22 S.Mancewicz (EHw)

(Ak=Auckland. Dn-Dunec
MGK= Mangakino. Cbe Ca

We now give a game
trief notes by the Edi

ROUND 1.

Came 144: L. Whitehouse
; KING'S
Whitehouse

i P - K4
2 P - KB4
3 N - KB3



BRIAN DOUGLAS WINS CHAMPIONSHIP RESERVE
R R AR AN IR GBI R

In this section there were twenty two
competitors and with the exception of H.E.
and B.J,Halpin of Mangakino all had some
national background, so that it was not so
very difficult for the committee to seed
the competitors into order of strength as
it appeared from past results.

Owing To the lack of entrants (there
were only five) no second class tourney
was held. However a special prize was set
aside for the winner of the bottom sixthis
being won by B.J.Halpin.(Seeded 21)

Main surprise in this tourney was the
bad form of Dr Reindler(Seeded 1) and I.D.
hayes (Seeded 5) whilist B.J.Halpin who was
unknown upset calculations by beating Dr.
Reindler in the last round,

Haase wasin front right up to the 10th
round when Douglas caught up to him; both
drew their games in the last and Douglas
was declared winner on the count-back.R.J.
Sutton was close behind the leaders being
only a % point less at the finish.

Here is the detailed result:

Rounds= 1 2 3 L 5 6 ge loh 11 Pts Pl
i B.Douglas  (Ak W 2.H12.N%E D2, D6, D3, Wy, DB, D7 Wik, DB B i
_@_G.G-Hﬂse Dn H 8’ NO 5 “_a D‘j ﬂl m& Lo qu. )‘Lmn 911‘ 2
R.J .SUutton Ak W20, ﬂ161|-£: W j§D5l Jln Hbs J’h )111'-]"51 ”? ?i 3
i..s.mﬂtehousa Hn) _ L16, W8, W22,Wil,W20,12, Li, W3, Wi2,L], W67 &
ER.E.Baezertz Ak) — W13, Wei,Ll, W/, D3, Li2,WikW2, 1B, L6, Wi5 63 b5
6 K.H.Okey Nu W10, L2, Wi5,Wi2 LB, L3, W9, W1b,W5, 6z 5
_E_‘I.'Pon“ imoni Wn Wig, :;;S: ,L5, L2, ;rg, D&;:S,ET; Ej L g‘ G
W.Reindler T/A) % 1,W20,Wi5, W . W5, L3, Li0 :
9 N.B n K 2,W17W16,DIL, LT, Wi3,16, Wi9,D2, D] 6 ©
10 B.J.Halpin MGK] 16 L7 MWi9 Lif Li W22 Li6 W21 Wi/ Wi2 W66 8
E.G.A.Frost 121 L Wi0 Wi9 Wi8 Lj5 Wi2 L 5% 11
i2 R.Kyle icbi 1 WO WiB 16 Wi3Ws D7 L Lj0 W22 5% i1
13 Miss M.lMcGrath an L5 W22 W21 L, L9 Digy Wi Li7 Wi9 54 1
il 1.D.Hayes Dn) Wj7 Wit L7 D9_Wie L5 Dj3 D3 Li Wei 5§ 1
15 JoB.Kay Ak) We2 L1 L6 WiBLS Wi7 Wil Df D2 L19LS 5 16
16 RoLo.Mi1ls Tg) WL L3 D20 L9 W2i Lil Wi0 Di7 L6 L22 WiB__ 5 15
i7 ¥rs E.Short  (Ak) Lih Li8 L9 Wi W22 Lib Di9 Djb6 Li0 Wil W20 5 15
18 WoL.Mclver Hn) L2 Wi7 Li2 Li5 Wi0 Lii L20 Li9 W22 W2i Li5 :
R.L.Roundhill (Dn) L7 L20 Li0 W22 Lij D2f Di7 W il L2 3
H.F,Pobar Wn) L3 Wi9 Di6 I_Qg_.i Wi8 22 éo Lﬁg]ﬂr 20
21 H.E.Halpin KGK] Wii L13 L17 Li6 Di3 i Li8 Lily 2% 27
22 5.Mancewicz _ (Hw) Li5 L L19 Li7 Lii W21 D20 L18 Wi5 L1224 2§
{Ak=Auckland. Dn=Dunedin. Hn=Hamiiton. Nu-New Plymouth. Wn= Wellington. T/A=Te Awamutu

MGK= Mangakino. Cb= Cambridge. Tr=Taurangs. Hw=Hawera. '

We now give a game from each round with
brief notes by the Editor.

ROUND 1.
game 14: L. Wnitehouse v R.Mills
) KING'S GAMBIT
Whitehouse Mills
1 P - K4 P - K4
2 P - KB4 P x P
3 N - KB3 N - KB3

Whitehouse Mills
L ¥ - @3 P - Q&
5 P x P N x P
6 B - B4 N x N~
7NP x N B - K2
8 0 - 0 P - KN4
9 P - Q& B - Bh
10 N - K5 B - N3
1 R - Qi N - QB3
12 B - N5 Q - QO




16
Whitehouse v Mills continued:

Whitehouse Mills

i3R - Ki 0 = 0
i, B x N P x B
i5 @ - B3 KR - Ki
i N x BP K - N2
To avoid the check which would lose aPlece
i7 B = N2 B ~ B3
18 N - K5 R - Q%

19 P - QBh? R x B!

The rook cannot be captured for if 20 RxR,
QxPech and QxR.

20QR - Qi R x BP
2{ P - BS R x Bp!!
22 P x R Q@ X Peh
23 Q - B2

Loses quickly, but it "is difficult to see
how White could save The game,

23 Q x Qch
2L K x Q ‘R x N
25 R = Q7 R x R
26 K x R B = Béeh
27 K - K2 : B -~ R4
286 R - Q5 B = N3
29 R x NP??
Whiteds game is hopeless,but this is fatal
29 P = B4
30 Resigns
ROUND 2
Gane G.G.Haase v K.M.Okey
Haase Okey
1 P = Gh N - KBR3
2 P QBL P = BL
3 P = Q5 P = K3
4 § - QB3 P ~ Q4
5 B = N5 B = N2
6 P - Qb
The beginning of Biack?s troubles.
5 P x P
7 P - K4 Q@ - N3
8§ B % N P x B
g B x P Q x MNP?
BXP would perhaps have been better.
0K - K2 B x KP
i1 0 = 0 B z NF?
A Dlunder surely?
i2 K = B R = Nigh
{3 K = Rt Q = N5

13...,Q-N3ch appears L0 be quite safe as

14 N=Q5, P x N; 15 BxP, N=B3 and the queen
escapes.

Haase Okey
b Q ~ Q3 N - B3
15 QR ~ Ni Q - R6
16 R - N3 Q = RY4
17 R{1)- Q1 N = N5
18 @ = B3 R - Bi
19 N = N5 R = N3
20 Q - N7% R - B3
21 N = B7eh R x N
2 P x R Resigns
ROUND
Game: i6 B.Douglas v R.Baeyertz
Douglas Baeyertz
1 P - Kk P = QB4
2 N = KB3 P = KN3
3P - Qb B - N2
L N - B3 P x P
5 N x P P = Q3
6 B = K3 N = KB3
7 P = B3 P = QR3
8 B = Q8L 0.:=70
Ir 020 N = B3
10 @ - Q N x N
i1 B x N Q =~ BRh
2 @ - Qi B = @
i3 N = G5 Q x Q
ih N 'z pch! K - Ri
15 R % Q B -~ N4
i€ B x B P £ B
i7 P = QR3 N = R4
8 B x Beh N z B
19 KR - Qi KR = KJ
20 N = & P = By?

Aliows the rooks to be forked {N = B7)but,
White nas ether plans.

]

29 N = B6. P x P
2 P x P QR = Qf
23 N x R N x N
24 P - K5 Resigns
ROUND
Game 17: No.B.Cruden ¥ R.L.Mills
Crudgen Mills
i P = Qb P - Qb
2 P = OBy P,.= K3
3 N - QB3 N = KB3
L P = K3 B = K2
5 B = @3 cC = 90
£ KN = K2 Qi = Q2

Cruden v Mills contin

Cruden
7 0 = 0
8 P - B3
9 B x P
10 P - K4
it P = K5
i N x N
i3 B - @
ib P - B4
i5 P - KN4
16 N - N3
i7 Q@ x P
18 Q x B
i9 P ~ B5
20 B -~ KNS
2t B x P
2 B x R
23 Q - B

Py S FURTOwE

ROWND 5

At the end of this rou
$ point lead from Doug
Okey, Baeyertz, Reindl
point behind him.

Game 18: SUTTON
1t N - KB3
2 P - By
3 N - QB3
L P - Q4
5 P - K4
6 B - K2
7 0 = 0
8 B ~ K3
9 N x P
10 P - KB3
11 Q - @
12 KR - Qi
i3 N - @5
14BP x N
15 N = N3
i6 P x N
17 K - B
18 X - N
19 K - B2

We think that Baeyertiz
on in this game insteas
draw. He was a plece uj
wiggling he may have

RRAREPRER B



Cruden v Mills continued:

Cruden Mills
7 0 = 0 P - B3
8 P -~ B3 P x P
9 B x P R - Ki
i0 P - K4 N - B
i1 P = K5 N - Q4
i2 N x N BP x N
i3 B - Q3 B - Q
4 P - By P - B4
15 P - Ki4 P x P
16 N - N3 B - KRS
17 Q x P B x N
18 Q x B R - K2
i9 P - BS K - Ri?
20 B =~ KNS P x P
21 B x P Q - N3?
2 B x R Q X Peh
23 Q - B Resigns

ROUND 5

At the end of this round Haase went into a
3 point lead from Douglas, and Whitehouse,
Okey, Baeyertz, Reindler and Sutton were 1
point behind him.

Came 18: SUTTON BAEYERTZ
1 N - KB3 N - KB3
2 P - By P - KN3
3 N = QB3 B - N2
L p -~ Q4 0 -9
5 P - K4 P - G
6 B - K2 Q- QR
70 =0 P - Kb
8 B - K3 P 2 P
9 N x P N - B4
10 P - KB3 P = QR4
i1 @ = @ R - Ki
12 KR - Qi B = @
i3 N - &5 N x N
WBP x N Q - k2
15 N = N3 N x P!
i6 P x N Q x P
17 K - B Q - R5eh
18 K - N1 Q - K5
19 K - B2

DRAW

We think that Baeyertz could have played
on in this game Instead of agreeing to a
draw. He was a plece up and with a bit of
wiggling he may have managed a win.

17
ROUND 6
Haase goes into & clear point lead from
Douglas and Reindler whilst Ponimoni,Kyle,
Sutton and Whitehouse are 1% points behind.

Came 19: Mclvar v Frost
Mclvar falls into an old trap in the Falk-
beer counter-gambit, but 1t is an easy
one to fall for.
Melvar Frost

1 P - K4 P - Ki

2 P - KB P - Q4

3BP x P77
Black must at least winarook i{.e.3 Q-R5ch;
L p-N3, QxKPch and QxR.

3 Q =~ R5ch

4 K - K2

But de dicides not to lose the rook.

n Q x Peh
5 K - B B - Bhch
6 K - N3 P - KR4
7 P - KR3 Q x KPeh?

Here P-R5ch right away would win 1n two.ie:
7.s+yP-R5eh; B8 K=R2, QxPch; 9 P-N3, QxPmate

B K - B3 Q - KS5ch
9 K - N3 P = R5ch
10 K - R2 B - QJch
i1 P - N3 P x P mate,

ROUND 7

Haase still maintained his 1 point lead
but only from Douglas. Haase conceding only
% a polnt in the seven rounds. Sutton with
5 points was 3rd.

Game :20 Halpin Mills
i P KL P ~ K4
2 N - KB3 N = QB3
3B - N5 P - QR3
4 B - R4 N - B3
50 -0 P - Q3
6 R - Ki B -~ K2
7 N - B3 P - Qi
8§ B - N3 B - N5
9 N - & 0 -0
10 N x Beh Q x N
11 P - B3 N - QRLy
12 B - B2 P - B4
i3 P - KR3 B - R4
ib P =~ Q4 BP x P
15 P x P P x P
% Q - Q3 N - B3
17 P x P P x P

e
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Halpin v Mills continued:

Halpin Mills
i8 B - @2 KR - Qi
19 Q@ = K2 B x N
20 P x B

Forced. If QxB then RxB.

20 N - @&
21 QR = Bi N x Peh @
2 Q x N R x B
23 Q - B3 QR = Qi
24 R - K3 N - R4
25 B - Q3 Q - Nheh
26 K - Bi R({7)x B
27 R x R R x R
28 ¢ x R Q x Reh
29 K - K2 N - B5ch
30 Resigns

ROUND &
At the end of this round Haase was only 3%
a point ahead of Douglas and i pt ahead of

Baeyertz.

Game 21 Whitehouse Sutton
1 P - Ky P - K3
2 P - Qb P - Qb
3 N - QB3 N - KB3
4 B - KNS B - N5
5 B - Q P x P
6 B x P P - B4
7 P X P 0 =0
8 Q - B3 N = R3
9 N - K2 N x P
i9 0 - 0 N x B
i1 N x N B - K2
i2 KR - Qi B - Q2

A self pin which costs a piece.

13 N x Nehi B X N

i4 B x B Resigns
1f PxB,then QxNP and the Bishop is lost.
ROUND 9
Haase still maintained his % point 1pad
from Douglas.

Game 22 Cruden Roundhill
i P - Kh P - K4
2 N = KB3 N = QB3
3 B ~ NS P = Q3
4L B = R4 N - B3
50 - 0 B - Bk
& P = B3 P = Q3
7 P = Q4 P = Q4
g€ P 2 B P x B
9 Q x RP B = @

Cruden Roundhill
10 P x P _ P x P
it Q - B

The Queen having finished her shopping re-
turns home.

it 0 0
i2 B - N5 P - R3
i3 B - K3 P - Q4 .
i4 B - BS R = K1
i5 P x P N x P
6@ = QR N = BS
i7 B - K3 N = K3
i€ KR - Ki R - K3
iI9QR - Q R - &
20 N - B BL

The bishopis safe as the Queen must defend
the rook.

29 Q - Bi R x R

2 R x R Q - B3
But where Is it to go?

23 R - & Resigns
ROUND 10

Douglas catches up with Haase both now
having 74 points. Sutton,Ponimoni and Okey
were one point behind them.
Game 23:

Whitehouse v Ponimoni
Wherein Max Ponimoni demonstrates that he
asks for no quarter and gives none.Towards
the end it was rather humourous for the
onlookers though no doubt tragic for Len
whitehouse to see his efforts to stave off
the inevitable end.

Whitehouse Ponimoni
1 P ~ Q4 P -

2 P = QB4 P - K3
3 N = QB3 P = QB3
L N =~ KB3 P = EB4
5 B - B4 N = .KB3
6 N - K5 W - QR
71 P - K3 N x N
8 P x H N = K5
9 @ - B B = N§
i0 B - Q3 Q - R4
11 B 2% N BP x B
12 0 - ¢ B x N
13 P x B G - 0
ik P - KB3 Q - B4
i5 P x KP Q X QBP
6 P x QP KP x P
17 @ = Ni7? B - Bl
16 P - Kk? Bz P

wWhitehouse
19 @ = N
20 Q@ x NP
A blunder surely? Why
20
21 K = R
2 Q -
23 Q x Rch
A neat way of regainii
23
24 B - K3
25 B x Q
26 B - Q67
The Bishop goes out o!
26
27 R - R
286 K - N1
29 kK - B2
Cutting off the Bishoj
0 K - K3
31 K - @
32 K - Bl
33 K - N2
3 K - Bi
3 P x P
3% B - B8
3% B - R6
The torture continues
3 B - N7
» K - N2
Lo K - R3
Li K - N4
2 R - Q
43 P - KR4
Ly R = Ki
L5 R - KM
W R - Qi
47 K - N3
B B - N2
4 Kk = B3
5% B - Ri
5 B - N2
52 B = R3
53 Resigns

Alas! poor Yorick.

ROUND 11 RAPRERER RS
Both leaders drew thef
count-back gave Dougls
was the first round pa
decided the count-back



kWhitehouse

iI9 Q =
20 Q x NP7

N2

Ponimoni
B x R

A blunder surely? Why not take the Bishop?

20
21 K =

2 Q - )
23 Q X Rch.

Ri
o

Q@ = Bheh
B x RP
R - B?

A neat way of regaining his rook.

25 K x Q
2L B - K3ch K - K3
25 B x Q P - QL
26 B ~ Q67

The Bishop goes out of play for many moves
26 P - QRS
27 R - Rl B - N6
28 K N1 R - R4
29 K - B2 P - Bh:

Cutting off the Bishop from the rook flle.
3 K - K3 P - Ré
N K - Q& P - R7
32 K - Bi B - B5
33 K = N2 R - Niech
3% K - B P - Q&
3% P x P P x P
% B - BB P - N3
3 B - R6 R x P

The torture continues
3 B - N7 R - K5
¥ K - N2 R - Kich
4o K - R3 P - @6
Li K - K4 K - Qb4
L2 R - Qi R x F
L3 p - P =~ KRL
44 R = Ki R - K7
45 R - K P - Q7
W R - Qi B = @
47 K - N3 B - N8
L8 B = N2 K = K5
b9 Kk = B3 K - Kb
5% B = Ri B = K5
5 B = N2 B - B
%2 B = R3 R = RY7
53 Resigns

Alas! poor Yorick.

ROUND 11 -

Both leaders drew their games and ihe
count-back gave Douglas the viclory.it
was the first round pairings that really
decidéd the count-backjas Douglas met

19

met Kyle{53) and Haase met Melvar{l)

Game 24 Douglas

wwwmwwowwxmzm%mwmmmwmvmoz-um“uz"vmzmw
[T N T O O O T IO R - RO A AN RO O N R S A B

RUNLEBRNREREOR B aIGGFAR T Cv N auiEw =

Cruden
QL N = KB3
QBY P = KN3
QB3 B - N2
K4y P = Q3
KB4 W - R
B3 P - BL
Q5 0 - 0
WG P - K&
P N x P
N P x N
0 N - Ki
K3 P - QN3
QR3 P = KB4
(01 P - BS
B2 P x P
P Q - N4
k2 P - KR4
B5 B - N5
B P x B
QP P - N6
P P x NP
B5 Q - R3
Rch B x R
B Q - R7ch
B1 @ - R8ch
K2 Q x NPch
QJ K x B
Bleh! Q x @
Qch K - N2
P R x P
KN1 N - Q3
NP R - R6
K3 R - N6

N5 Agreed Draw.
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AUSTRALIA'S INTERNATIONAL TOURNAMENT AND CHAMPIONSHIP.

Rodney Phillips has been Kkind encugh 13 O.Webers(Tas) 84314 G.Koshnitsky(NSW)83
to send us the f{ollowing report on the 15 C.J.3.Purdy(NSW)€%; 16 F. Canpomanes(Phil)
tournament recently held in Australie. He 17 P.J.Viner(xsW) &%; 18 J.V.Keiiner{NSW)&
conments 1~ 19 J.Swewxzk{lSW} &; 20 B.Kondra{Vie}b;

"this tournament was called by overseas 21 L.Awdien{Vic) §; 22 D.B.Pike(HSW) 7:
players The International Chess Touwrnament 23 W,Blaicher{NSH) 7; 2L A,Teters{Vic) 7;
whilst Australian piayers called it The 25 F.A.Crowl(Vic) 7; 26 ¥.Lapin{Qld) 7;
bustralian Chess Championship'. 27 W.Poder(NSW) €4:28 Dr P.Kalinovsky(SA)Sh

29 W.LeonrardtiWA} 5: 30 P.Foster(WA) 4;

The field was the strongest ever to 31 A.Rudziths{Vic) 4; 32 P,Timshenko(¥ic)3
have contested an Australian championship
znd even last placed Timoshenko beat C.J.8 GCame 25
Furdy®! Steiner's play was solid and he PHILLIPS WPTULO

used his vast experience to thefull.Berger i P = Kb P - QBkL
made a greal burst at the finish scoring 2 N = KB3 N - QB3
64 out of 7 at the finish! Bachtiar and 3P - & P x P
wotulo both surprised the field but their 4 N x P P - Q3
result was not a flash in the pan for 5 P - QBh P - KN3
Wotulo has drawnwith Averbach and Bachtiar 6 N = QB3 B - N2
refused a draw against Averbach in a won 7 B = K3 N KBS
position but lost on time. Sarapu played & B - K2 N Q2
well at the start but faded In the second 9 0 =0 0 = 0
half. Late in this half he had ©o contend 10 Q Q2 N(2)- Kb
with many adjourned games but his decline 11 P = KR3 R - Ki
had already begun with 81055 and tWo draws. 2 QR = Q P - Q3
Pasta {Victorian champion) lost four games i3 P = KBh N - @
in a row in the middle. 020ls was out of i4 N x N P x KN
form and suffered asevere attackof lumbago 15 P = @B5 P x P
guring the 15th round. His 16th was with i6 B - N4 P = K3
C.J.8.Purdy who played him at hls hotel. i7 N = R4 Q - k2
Piklerst! result was amazing for a player i8 P K5 R - Qi
who has hardly played for ten years. i9 B = B3 R - N2
20 Q - R5 N = Ni
The standard of play in Australia is 2f N x BP R x NP
much higher than that in N.Z. at the top. 2 P = QRL P = KN4
1 was quickly shown this fact and my play 23 P x P R = QBY
improved tremendously duringthe tournament 24 B - RS R - Bi
1 scored the fantastic result of 73 out of 25 N - Ki P - QB4
£ with White and 9 out of 8 with Black. A% 26 B x QBP R x B
round 14 1 was 5th equal(B4). 27 @ x R Q x Q
26 N x Q B x KP
(Both New Zealanders suffered badly from 23 B x Pch R x B
the heat,Rodney losing 7lbs in weight.) 3 R = Q8h K =~ N2
3 R x Reh K x R
Here is the final result and a few of 32 R x B P - QRL
Rodney'!s games:- 33 N = N3 N = @
3, N x RP N = N3
i L.Steiner(NSW) 124; 2 B.Berger(NsSW) 114; 3% R = B2 N x P
2 A.Bachtiar{Ind) 11: 4 0.Sarapu (NZ) 10%; ¥» K = B2 N = N3
5 M.Wotulo (Ind) 10; 6 E.Basta (Vic) 9i: 37 K - B3 N - Q4
7 K.0zols (Yic) 9%; & R.Pikler (NSW) 9% 3} P - N3 B - Q3
9 H.Klass (NSW) 9; 10 J.Purdy (NSW) O; 3 N - By B - Ni

11 J.R.Phillips(NZ) £4; $2 J.Ranks(Vic)8i; {nexi page)

Phillips v Wotulo con

PHILLIPS

4o R = Q2

bi R - X7

L P - RY

43 R -~ @
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Phillips v Wotulo continued:

PHILLIPS
O R - Qr
Li R - N7
L2 P - R4
L3 R - Q7

21

Bleicher must have certainly under-
estimated his opponent in this game, when
he was forced to resign after 16 moves he

probably changed his mind.

PHILLIPS
1 P - Ki
2 N - KB}
3 P = Qb
L N x P
5 P - QBL
6 N = QB3
PowBnQ3
8 B - B2
9 N x N
i0 P - K5
11 Q = Nk
i2 P x P
i3 B - R4
it 0 = 0
i5 N x Q!
i6 P - K6!
17 @ - Q&
i8 Q x QP

In the i11th round he played C.J.S.Purdy
whose playing ability 1s well=known.

PHILLIPS
i P = Ki
2 N = KB3
3 B = N5
L B - R4
5 P = Q3
6 B = N3
7 B - K3
8§ P - B3
OAd - @
i0 Q - K2
11 P = KR3
2 B - N5
i3 B - R4
if N x N
i5 P = KN4
6 0=-0=-0
17 B - N3
iB K - N
I9W - QR
20 N = Bj

PHILI..I;IS‘ PURDY
21 N -~ P = Q4
it 2 P - B3 N - K3
K - N3 23 N - BS N - B5
B - Q) 24b Q - R2 P - KN3
Resigns 25 B - R4 Q ~ Ri
R 26 N -~ @6 KR = Qi
27 N x B R x X
28 B - N3 P x P
29 BP x P Q - B3
0 N = K3 B - B
3 KR - Bi Q - Q
BLEICHER 2 B x N P x B
B = 3 N -~ Q5 B - @
P ="K3 A Q - KR P - N4
P x P 3% P -~ KR4 R = @QBi
P - Q3 % P x P P x P
N - kB3 37 R - Rj B ~ Ki
B - N5 3 Q - R2 R = B3
N = B3 % Q = Rfeh K - Bi
P - Q4 o Q - BS B - N2
P x N Li R - RS R = N3
N - @ L2 R(1)- Ri K = Ni
B - Bi 43 P - K5¢
BP x P
Q = B
P - KN3
P x N
P - KB4
R - KN
Resigns
PURDY
P - Ki
N - QB3
P = QR3
N - B3
§=, ?ﬂh— PHILLIPS
P - Q3 Of course the knight is quite safe, for if
0 -0 L3...,QuN; 44 G-B8ch,B-Bi; L5 R=REch,K-N2;
R - Ki L6 R(1)-R7 mats.
Q - K2 '
N - @b b3 Agmhs
P - KR3 Fatal, but what else? R - R3 may have held
N x B out & little longer.
A | Ly N - BSeh B x N
N - R2 L5 P x B Resigns
P - QB4
N - Bi We accept subscriptions for*"CHESS® 30/-
g— gg and British Chess Magazine 28/- per annum.
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COMPETITION

A DDA I AR D R f R DR e

QU I z 4

LADDER
B.Menzies 2c 55 77
G.Severinsen 7 5% 63
K-R.Austin 11 48 59
Dr J.F.Filmer 16 L3 59
Dr N.E.H.Fulton 13 Wy, 57
A.T.8cott 4 3 L3
B, Murphy L T T
Mrs Spens=Black N 3 3
D.W, Thompson -~ 24 24
C.Huygens == 9 ]
NS=No score. PCSSIBLE: 20

SOLUTIONS

13: 1 Q—R6 R=KN1; 2 Q=N7cllo RxQ,
3 PxReh,K=Ni; 4 N~K7 mate.

tl: 1 NxB,NgN{Not QxQ,NxNch) 2 BxPeh! KxB;
3 QR5ch, P=N3;L4 QxRPch,B=B3; 5 Q=Rich
-K-N2;6 RxR,RxR; 7 QaN,QxNP; 8 Q@-Q7.
153 3 P=Q6,RxP; 2 Qxqeh{or B=Bh), Kxq;
3 B-Bheh, X~R2; 4 RxN wins.

163 1 N=R6eh,K=N1; 2 QxB,QxQ; 3 NxPch, K=N1

4 NxQ.
COMMENT
13: Actually only three gol this one right
Severinsen Menzies and Filmer. Austin,

however receives full marks as I cannot
find any fisw in hig ingenicus solution,ie
1 QxBP, R=KNi: 2 Q=K&! QRxG; 3 P-B7 disch,
R=NZ, L PxR=Q mate. In this solution every
black move is forced.

Several gave the fiist move but then gave

No 17. This easy M pis

2 QxR which fails on account of KxQ'

i4: All failed to et the corrsct solution
however a variation earned some points
for some:i BxPch,R¥B; 2 NxB, RxReh; 3 RxR,
QxQ; L NxNeh,RxN; 5 PxQ,R=BL; 6 P=QNL,R-Qh
7 P=KN3,R=G6; B R=KN3.
Two gave this variation up t0 move 5 and
only one gave the full & regquired.
One gave a 11 mover Lo win a pawn starting
off with NxBP. Another nearly got it right
but went astray on the 2nd move andat move
5 gave back the pawn.

i5:An easy one, but it still caught a few.

One must have sel up his board wrongly as
he managed to get his black rook on move 2
onto Black’s QN3. One lost a point through
wrong annotation.

162 Two lost a paint each with this one by
playing J...,R x N instead of the more
reasonable move of K = N1. One saved the
point by putting in the correct move in a
second variation.

If any solver can find a flaw in the
two variations given (13%1L) he will be
credited with the score whilst solvers who
have been gredited with points on these
variations will have them deducted.

(Solvers should keep & copy of their
sglutions)
CLOSING DATE: MARCH 39

or will win. Two meves only. Black can draw(extra 5 pts)for solution|COrrece)

WRTE8 o Dove and Uaté 1n tvo- WAIUE to move mates In four itk o Wove mates in siX

P R O B
AR RARRERARRE
SQLUTIO

No:97: R = N4, 98: R
J003KR = Q4. 013N =

VARIATICNS
KEY: B = |

flocsascnns.K~R8 Or BS
2) R = QN6, K x N
3) R = N1 mate.

POSSIBLE: 15
LADDER,

Dr N.E-H.Fulton
N4, Palmer
G.Severinsen
A.T.Scott

Bo GoMurphy
D.G.Brint
Ro8,AbbotL
C.T.Burant
T.C.C.Scott
C.Huygens

Mrs Spens=Black
J.L.Backett
i.Roftey
JodoMarlow
Co8.Meakin
Stnnyside Syndicate®

%} New Solver: Welcoms
Don®t knew what we’d ¢
won the trophy.Raises:

COMMENT

S7:Alittie appetizer
body gratefully acc

983An entreethat seeme
well.

99: Little trouble wit
S

1002But oh the sudden

gseemingly wanswarable

answering...,RxP! The

ising R=QBL is stopped

which the dangerous lo

longer exists while th



P R O B L E M
X058 13 0GB %1 0 8L 0 8 R O R R TR R
SOLUTIONS

N0:97: R - Nh. 98: R = N3. 993 Q = Ri.
100:KR = QL. 4013N - Kh. 102:B=R7 disch

VARIATIONS No 102
KEY: B - R7 dis ch.

1)ececeaoK = N&
2)P - B5,K -~ BS
3)B = N8 mate.

1)sacsases-K=R8 or B8
2) R = QN6, K x N3
3) R - Ni mate.

POSSIBLE: 15
LADDER

Dr N,E.H.Fulton 3% 15 50
N. &, Palmer % 15 50
G.Severinsen 3B 13 L8
A.T.Scott 33 15 48
B.G.Murphy % 6 X
D.G.Brunt 19 13 R
R.S.AbbOTL 27 L 3
Co.T.Durant i5 13 28
T.C.C.8z0tL 20 - 20
C.Huygens 1k 6 20
Mrs Spens—Black 14 6 &0
J.L.Beckett 11 8 19
I.Roftey 8 - 48
JodoMarlow i6 == 16
C.8.Meakin 15 = =15
Stimnyside Syndicate® == 11 i1

#}) New Solver: Weigome - all four of nim)
Don?t know what we'd do if asyndicate ever
won the trophy.Raisesall sorts of problems.

COMMENT

97:Alittle appetizer That virtually every-
pody gratefully accepted.

98:An enireethat seemeqd to g¢ down equally
weil.

993 Little trouble with this one either.
A

1003But oh the sudden falter'Most fell for
seemingly wangwerable R - Q4. But try(the)
answering...,R¥P! The almost equally prom-
ising R-QBY4 is stopped simply by PxR,after
whieh the dangerous looking pewn Date no
longer exists while the Black bishop is

ready to interpose in any check by Whitets
other rook.

1012 Not many points dropped here.R-N6 was
tried but gets nowhere against...,K-Bl.The
85.S%suggested NxNdisch,in the face of all
canons of Iwo-mover compesition.At that it
would have workedif the knight hadn®t then
been the victim of a self-pin,preventing
it from mating after the Black King moved
to K3{uncovered).

102: As usual this proved too tough for
most. One splver gave & neat solution that
would have been faultless -~ if the colours
had been reversed! Three-mover experts
might care to work it out. Another came
glose but ended with a stalemate. SOrry we
can’t explain the significance of the name
%Parallele 50%. Any suggestions?

3,Dartnall
33 imlay Crescent,
WELLINGTON Ni

FPROBLEM EDITOR

(We have received and gratefully accepted
an offer Lo conduct this seection by one of
our sglvers. He will be taking over at the
end of the present series as he is still &
contestant and one withe chance of winning.
Until then M Dartnall has Kkindly agreed
to carry on. Ed.

WELLINGTON OPEN- EASTER
TOURNAMENT

Chessplayers are invited to enter the
Wellington League'’s Easter Tournament by
sending in their name and address together
with an entry fee of 10/= to:

Hiss C.Donovan No 2 leanian Flats,
Brougham Street, WELLINGTON. Ch.

The tournament will be held in the V.I.C.
Private Hotel, Cuba Street, commencing on
Friday gfternoon March 27,finishing on the
following Monday morming. It will be a six

rounder and may be split inte 2 divisions.

Director of Play: Mr T.Costello.
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PROBLEMS

104

7v5 Mate in two
(ist publication) (1st publication)

F.L.Baxter

.........

(uoTmy IC £q N u0ABUITTOM 1ue0SeJ) AeTU] (¢ TTPURIRQ°S JY 103 £uOJINTOE)

9¥11 Mate in two 5v5 Mate in three
(N_ata,l Mereury ist prige 1912}
(Solutions to be in the hands of the Problem Editor no later than 3i March)










